Q‘\‘s NV
eI

5o HBERFRMHA S 2RY DR FERS

[10FUTFEF]
39.820
B MEF 6
40.975
@ L B
41.975
A LI A 3
5 42.990
JLimiE
O ® g BREE
“ 41.110
Y
Z HER 7
41.630
B4
® % BREE
42.110
% BREE 2
=
@ i KA
38.095
IR ZF 5
41.220
wEs)l| —
() PK==E
40.865
B Pk =& 4 44310
5 )
Al
O ® i K
" 8.340
Y
Z Kk F0iE 8
44.285
P
@ A K
43.580
i K 1
KBR
R it K KBRAT 44.310
5241 I BREE REBRT 42.990
LIz 2K itisE 40.975
5347
Pk =& alllg 41.220




Q‘\‘s NV
eI

5o HBERFRMHA S 2RY DR FERS

S (10F AT LF]
39.860
20 PR
42.280
5
@ 7 ATy
43.055
A ®LB(E -
, 42.315
7 —
=0
O 7 AT
“ 41.400
Yy
Z O =&
41.395
S
©) HE =
42.100
HHE =W
Al
@ A EPE
42.980
BIR ONsd
43.095
Fz L
) BIR ONd
41.980
B R HE
5 45.865
e
O A ENE
N 40.520
Yy
% HF BEE
46.315
)|
@ FE ENE
45.790
A ENE
KBR
$E14I A ENE ABRAF 45.865
241 M OBE =R 42.315
THE = alllg 41.395
311
BIR 0N FER 43.095




oM #EFEMR MSRY DEREEFIERS
%sncs‘*§ [11'12;}_%¥]
42.225
B
47.490
1=
@ =R B
46.870
A = B oo
| 48.365
J E
O M ES
. 42.745
v
Z B EE
48.085
i
8 ® M EE
46.685
KRS
Kb
@ MK 184
44.660
KB kS
46.170
s ~
® AIG BH
45.680
B e B 49.310
5 .
3
O A 54
W 42.015
Z AEE B2
48.305
=455
@ A 154
48.085
A 184
Al
B4 A 184 Alllg 49.310
P M EE KRR 48.365
= B L 47.490
B34
AIE BE )18 46.170




Q‘\‘s NV
eI

5o HBERFRMHA S 2RY DR FERS

(11-12F & F)
45.955
Kig %
47.895
& .
@ B Tk
48.000
A BRE T
! 47.450
J
Al .
O BR T
\ 43.160
W
2 B15 #
45,505
LLIf
® Bi5 B
10.030
EH T
5 .
@ Ho &
46.790
Punl=s R =
47.325
15 )
@ stH 162
46.240
B Gl =R
! 49.140
J
)| ]
O B #Aiih
W 2.500
’7 KK ¥
49,940
R
8 @ FCh 7
50.165
A #iA
PN
1M A #iA KBRAF 49.140
SE241 BR T ==t 47.450
E15 B LR 45.505
B3 —
TH BE fEmE 47.325




5o HBERFRMHA S 2RY DR FERS

(13-14F5BF)
48.195
Ell 5t 6
34.120
KB _
@ Tl 7T
25.535
A Bl &= 3
| 51.390
7 RED
m| ® #4224
\ 46.280
v
o ST 2N 7
51.595
plai::3E
® #4T Z=4
51.840
17 =5 2
=
@ IR X
49.025
fist NS 5
50.900
Al
() EI TN
52.340
B IR 2K 4
| 52.250
2 o
FE
m| ® EE TN
\ 47.775
b
’7 K 223k 8
10.700
B3 e
@ EF &
50.765
S&F F= 1
b
ERLiva IR fEX FEB 52.250
==pliva #3417 228 FIfEEIR 51.390
El 5t ABRAT 34.120
£ iva
SF = mee 10.700




oM #EFEMR MSRY DEREEFIERS
B (13-14F &ZF]
|
45.425
®IBR
44.770
=
@ M IEEs
5.400
A B % 45.410
7 3 .
O HEBR
W 44,555
0 SR BT
9.680
BHE
® NNEES=
49.215
I 58
=
@ E R
46.455
£ %
47.060
)| .
@ T HhDF
47.660
B T HDF
| 51.850
2
Al
m| BECZC
W 44.805
2 KA FEL
51.460
i
@ BECC
50.700
1BE TR
KBR
1T 1BE TR KBRAT 51.850
EpXivi W 3B =8 45.410
T HhDOF ale 47.060
B34
NN ES= mee 9.680




5o HBERFRMHA S 2RY DR FERS

(15-16F5BF]
16.045
% (B 6
55.925
FE -
@ A E
52.295
A BRE 3 55.310
- .
Al .
O ® A E
\ 48.985
v
4 =N BA 7
54.770
3
® ) $REH
53.205
) $REA 2
fE L .
@ FERE) PERY
49.335
W B 5
50.715
=]
@ AIE A
50.910
B AKE M 4
| 55.335
J
)11 .
O ® FEE) PERK
“ 46.115
2
2 i B 8
55.070
| .
@ FEE) PER
53.855
FEE) PERL 1
KBR
1T e PRk KPR 55.335
E24] B T AllE 55.310
) $REH ET] 54,770
5347
A WA zs)|18 50.715




Q‘\‘s NV
eI

5o HBERFRMHA S 2RY DR FERS

43”05\»’3% [15'16;}_§¥]
48.650
PIEREEN
49.545
B4 .
@ /MR BETE
49.870
A /R BRTE 6740
. 49.74
7 P -
O ® IR BB
W 5.140
v
Z ik 2
49.180
BB . .
49.320
=F BE
REF
@ it BR
5.470
RIR —H
49.320
BR
) & XT}
49.460
B w3 51.640
7 £ _
O ® A X
W 47.870
P
v & [Foh
49.840
alll ——
@ B
51.470
It BR
R
ESARv HH 235 TR 51.640
g2 /R BRAE RERAT 49.740
=F BE REFER 49.180
B3
&R X5 aEE 49.320




5o HBERFRMHA S 2RY DR FERS

(17F U E5BF]
24.190
JKH 1555
54.535
KB
@ #TH /%
57.810
A #rH B2
) 58.060
7 BR
O ® T FR
\ 55.435
W
“ BlR Edk
50.325
=
©) HEFE BB
56.925
HEFR KER
=R
iTH B35
56.065
a0 E¥E
55.890
B3
) EPAT Bz
56.240
B FFAT 2t
. 57.540
j =
=54
O ® LU KH
\ 55.660
v
% Fith &JE
56.650
=ik
@ LR XH
56.425
LU K
BE
$E14I irH B8 BRRED 58.060
241 LR KXH BER 57.540
HEFR KER =RE 50.325
311
P B2 =FE 55.890




Q‘\‘s NV
eI

5o HBERFRMHA S 2RY DR FERS

S (17F U L %F]
47.895
M taE
49.980
itEE
@ Fatt SE4T
50.865
A Faft =41
! 50.935
J
Al —
O BH EA
W 49.335
2 T8k METE
51.195
FE N
® HH EH
49.525
A EH
B3] B
@ ¥
49.235
XM £
49.425
KR
©) TES i
50.495
B ES B 1 040
7 )| _
O H ¥
W 49.250
’7 SH &k
51.625
BE -
@ R ¥
50.680
R ¥
L
141 B ¥ i LI 2 51.040
5247 BH EAR TRIIR 50.935
att =4I Al 49.980
B3
TS B )18 49.425




SB9[E] #RERIRMH bS5 2R DR FHEAR

& 2
%Sncs*g [7'-_70\/%?]
6.435
1R 4R 6
54.415
#Z|
E|‘ N -
58.875
A o 3
5 34.690
BE
0 ® — Al —
57.405
v
s mmrznr |7
59.235
BN
” ﬂ‘ =TI -
58.650
F=TE 2
o ) Bl A
60.025
=9 K5 5
18.800
Bl
E|‘ =5 K5 —
59.665
B ETTIE=CTN. P
j\ 12.400
BE
O O— =mxs | —
57.940
v
5 B AE |8
6.630
B4lE
5 E|‘ R R —
59.315
PR A 1
= SEERER
47.970
R A -
- A
25.075
R —
B F=TE RIHIE 34.690
B0 =5 25 BiE 12.400
8310 B AE 5EE 47.970




SB9[E] #RERIRMH bS5 2R DR FHEAR

& @
%mcs“c"g [7'-_70\/§¥]
51.175
ZH W=
54.415
alll
a— FIL L —
53.765
A FIL T 0.000
7 FE )
O ® F— FIl FHL _—
52.980
Y
]
0 [ ER 36.880
KB
® [EH @X —
52.520
BilE U
KB
@ &R 3R
52.615
LNES SIS
52.940
KB
ﬂ‘ NG —
51.595
B +H #EE
. 54.950
7 KB
O ® — T R —
5.545
Y
)‘/J\><
0 H 2% 55.025
alll
(©) T 15 —
54.225
&M IR
BN SHRER
52.235
[ 3% —
o R X0AE
53.450
IR KRS —
g1 &R 3R RHED 54.950
52411 FIl T FER 0.000
B3I NG ABRAT 53.450




